
Assembly Instructions
Ninja Club Sit Stand Gaming Desk



Step.1

Step.2

Place the Table Leg Frame on the bottom side
of the table top.

f

p4

Parts List
No. Name Drawing QTY

a Lifting Column (Left) 1

b Lifting Column (Right) 1

c Connecting Pipe (Left) 1

d Connecting Pipe (Right) 1

e Crossbar Rail 1

f Connecting Rod 1

g Side Support 2

h Feet 2

i Control Box 1

j Handset 1

k Screw M6x12 4

l Screw M6x16 9

m Screw M6x40 2

n Screw M6x45 2

o Screw 5x22 11

p Screw 3.5x16 4

q Screw M10x35 8

p2 Allen Key 2 1

p4 Allen Key 4 1

r Power Cable 1

s Control Box Bracket 1

b

k

g

g

a

c

d

e
Keep the screw loose
for width extension

p2

Keep screws on
Connecting Rod
Loose for extending the
Connecting Rod.

First insert the end of the
 ''hexagonal column shape'' side.

nn

l

l

l

k

l

Detail  A
A

s

mm



Extend the Crossbar Rail and
Connecting Rod to fit table size.

Step.3

Step.4

Detail  B

Tighten up the screws.

Step.5

p

o

i

j

B

q

h

r

h

q

p4

Put Motor connecting cable
through the hole below the Right Trunk.

p

p

oo



※ Important ※

Reset the handset before use :
1.) Press and hold ∧&∨buttons for more than 3 seconds, the screen shows "SET".
2.) Continue pressing both buttons and both columns go down to the lowest position.
3.) After a beeping sound is heard and the screen shows "28.1", now you can release the ∧&∨buttons,
     and the table is operational.

S2 31 4 S2 31 4SET 28.1

the lowest position

Step.6



MEMORY CONTROLLER
INITIALISATION / RESET

User
Text Box



Innovation House
39 Mark Road
Hemel Hempstead
Herts.
HP2 7DN

Esto Global Limited T/A: Ninja Desk

sales@ninjadesk.com


	圖紙和視圖
	模型

	圖紙和視圖
	模型

	圖紙和視圖
	模型

	圖紙和視圖
	模型




